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QUESTION 1

Assuming the function  is called, which script block will display Hello Joe in the document window after you enter the
name Joe? 

A. function DisplayName(void){var YourName = window.prompt("What is your name?","Please enter your
name");document.write("Hello " + YourName);} 

B. function DisplayName(){var YourName = window.prompt("What is your name?","Please enter your
name");document.write("Hello " + YourName);} 

C. function DisplayName(void){var YourName = document.prompt("What is your name?",Please enter your
name);document.write("Hello " + YourName);} 

D. function DisplayName(){var YourName = document.prompt("What is your name?","Please enter your
name");document.write("Hello " + yourname);} 

Correct Answer: B 

 

QUESTION 2

Which choice best defines events and event handlers? 

A. An event can be an action initiated by the user, and an event handler specifies how JavaScript will react to the
action. 

B. An event is an action initiated by the operating system, and an event handler is a function defined by the user. 

C. An event handler can be an action initiated by the user, and an event specifies how JavaScript will react to the
action. 

D. An event is initiated by an error in JavaScript, and an event handler will attempt to bypass the error and continue. 

Correct Answer: A 

 

QUESTION 3

Consider the following code: 

What is the output when you run this script in the browser? 

A. An alert box displaying the following: John, Paul, George, Ringo 

B. An alert box displaying the following: Ringo, John, Paul, George 
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C. An alert box displaying the following: Ringo, Paul, George 

D. An alert box displaying the following: John, Ringo, George 

Correct Answer: D 

 

QUESTION 4

Consider the following code: 

A. Replaces the text CIW with the text http://www.CIWcertified.com 

B. Replaces the text CIW with a link that reads myLink and points to the URL www.CIWcertified.com 

C. Converts the text CIW into a link that reads CIW and points to the URL www.CIWcertified.com 

D. Returns true if the content of the  is a link to www.CIWcertified.com, or returns false if the content of the  is not a link
towww.CIWcertified.com 

Correct Answer: C 

 

QUESTION 5

Consider the following select list: 

Which of the following will select the third option in the list? 

A. var list = document.getElementById("numlist");list.selected = 3; 

B. var list = document.getElementById("numlist");list.options[2].selectedIndex(); 

C. var list = document.getElementById("numlist");list.options.selectedIndex = 2; 
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D. var list = document.getElementById("numlist");list[3].selected(true); 

Correct Answer: C 

 

QUESTION 6

Which of the following demonstrate the correct syntax for the switch statement? 

A. var myName= "Paul"switch (myName){case "Peter"document.write("My name is Peter.
") breakcase "Paul"document.write("My name is Paul.
")break: (default);document.write("I do not have a name.
")} 

B. var myName= "Paul"switch (myName){case "Peter"document.write("My name is Peter.
") breakcase "Paul"document.write("My name is Paul.
")break: (default);document.write("I do not have a name.
")} 

C. var myName= "Paul"switch (myName){case (Peter)document.write("My name is Peter.
") breakcase (Paul)document.write("My name is Paul.
")break;case: (default);document.write("I do not have a name.
")} 

D. var myName= "Paul"switch (myName){case (Peter)document.write("My name is Peter.
") breakcase (Paul)document.write("My name is Paul.
")break;case: (default);document.write("I do not have a name.
")} 

Correct Answer: A 

 

QUESTION 7

Which script block will display Hello World in the browser when the script is run? 

A. var message = "Hello ";var message2 = "World";document.write (message + message2); 

B. var message = "Hello ";var message2 = "World";document.write (message and message2); 

C. var message = Hello ;var message2 = World ;document.write(message + message2); 

D. var message = "Hello ";var message2 = "World";document.write ("message + message2 "); 

Correct Answer: A 

 

QUESTION 8

Consider only the following code: 
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Which of the following would properly supply the sum of the two numbers? 

A. return sum; 

B. mySum (num1+num2); 

C. return num1+num2; 

D. return sum(num1+num2); 

Correct Answer: C 

 

QUESTION 9

Consider the following code using a checkbox object: 

Which checkbox property was used by JavaScript? 

A. checked 

B. onclick() 

C. checkThis 

D. z-index 

Correct Answer: A 
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QUESTION 10

Which is the best technique to test a script for cross-browser compatibility? 

A. Use the W3C site\\'s code validator to test the script. 

B. Test the script in various versions of the same browser. 

C. Test the script in various browsers, including various versions of the same browsers. 

D. Determine the most frequently used browser for your target audience and then test the script in that browser. 

Correct Answer: C 
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